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0.65 0.70 0.60 0.60 0.75 0.65 0.60 0.60
2.50 3.50 1.00 1.00 2.00 2.50 2.50 1.00
'$ 0.20 0.19 0.17 0.19 0.21 0.18 0.19 0.20
7 0.00 0.05 0.00 0.00 0.00 0.05 0.00 0.00
6. 1137 2433 2592 6929 | 2778 3798 4754  110.07
+? L % (6(-= $ 217& (3 C
K(0 $ K 217 K™ &$
| |
)8 5.85 6.07 6.03 6.06 6.14 6.20 6.15  6.07
9: 2.81 1.95 1.70 1.47 1.68 1.50 147  1.23
:80 0.00 0.05 0.10 0.00 0.00 0.00 0.05  0.00
< 7.45 5.15 4.40 3.75 4.15 3.60 355  3.30
: 0.95 0.80 0.70 0.75 0.65 0.65 060 055
: 4.90 3.20 2.95 2.45 3.05 2.70 2.65  2.00
7 3.80 2.55 2.30 1.90 2.15 1.95 1.95 150
0.10 0.10 0.09 0.13 0.10 0.11 012 011
= 1955  11.70 9.20 7.80 9.70 7.80 735 565
: 0.35 0.30 0.25 0.20 0.15 0.20 025  0.20
+0 3.65 3.00 3.20 2.65 3.00 3.05 310 255
8:+= 0.06 0.09 0.09 0.10 0.10 0.11 011  0.10
0.00 0.01 0.04 0.22 0.03 0.05 012  0.36
* 5.90 7.65 7.35 9.95 5.80 6.90 8.05  7.05
7 3.00 2.20 1.40 1.45 1.75 1.50 150  1.25
2.25 1.95 2.15 1.85 1.75 2.00 245  2.00
4.00 3.50 2.00 2.00 3.00 2.00 250  2.50
'$ 0.27 0.22 0.23 0.24 0.23 0.21 027 025
7 0.00 0.10 0.00 0.00 0.00 0.00 0.00  0.00
6. 1579 2699 3121  8580] 2880 3225 5185 12852
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1L % (6(-= $ 217& (+ C

K(0 $ K 217 K &$
| | | | |
5.51 5.81 5.60 5.45 5.57 5.83 5.80 5.65
2.38 2.31 2.17 1.61 2.19 1.88 2.02 1.58
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
5.55 5.00 4.50 3.60 4.60 3.80 4.15 3.50
0.85 0.95 0.90 0.75 0.95 0.85 0.80 0.70
3.70 3.65 3.55 2.50 4.10 3.25 3.50 2.50
3.55 3.60 3.50 2.50 3.60 3.05 3.15 2.35
0.09 0.10 0.10 0.09 0.12 0.11 0.11 0.10
15.75 14.00 13.35 9.15 13.65 11.05 1190  9.05
0.35 0.35 0.30 0.25 0.25 0.30 0.25 0.25
2.40 2.50 2.45 2.15 3.00 2.50 2.75 2.25
0.01 0.06 0.03 0.01 0.02 0.07 0.06 0.03
0.00 0.00 0.03 0.14 0.05 0.06 0.12 0.20
3.30 6.75 6.65 6.65 5.20 6.70 4.90 5.90
2.15 2.10 2.15 1.80 2.10 2.55 2.00 1.90
0.70 0.85 0.85 0.85 1.40 1.20 1.00 1.10
2.00 2.00 2.00 2.00 5.50 2.50 1.00 1.00
0.19 0.20 0.19 0.21 0.21 0.22 0.19 0.23
0.00 0.00 0.00 -0.05 0.00 0.00 0.05 0.00
10.79 14.10 25.47 50.88 29.48 3438 4356  68.63
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? % (6(-= ? 17& 3 C
K(0 $ 217 K(** &$
|

)8 5.86 5.82 5.79 5.83 6.05 5.98 5.96 5.95
9: 0.90 0.90 0.91 0.88 0.99 0.97 0.96 0.96
80 1.30 1.25 1.25 1.30 1.50 1.45 1.40 1.45
< 2.05 2.05 2.15 2.25 2.50 2.45 2.50 2.50
: 0.60 0.60 0.65 0.60 0.60 0.55 0.65 0.60
: 0.75 0.80 0.80 0.80 0.95 0.90 0.95 0.85
7 0.85 0.90 0.95 0.90 0.90 0.90 0.85 0.90

0.08 0.09 0.09 0.10 0.09 0.10 0.10 0.10
y= 4.90 4.80 4.85 5.00 5.40 5.10 5.15 5.20
: 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30
+0 0.80 0.80 0.85 0.90 0.90 0.90 0.95 0.95
g:+= 0.11 0.04 0.10 0.08 0.14 0.13 0.13 0.12

0.01 0.01 0.01 0.13 0.20 0.22 0.21 0.23
* 5.90 5.85 5.90 5.45 5.30 5.90 5.65 5.45
7 1.55 1.55 0.80 1.65 1.90 1.90 0.90 1.80

1.60 1.75 1.75 1.85 2.50 2.75 2.60 2.50

3.00 4.00 5.50 5.00 3.50 4.50 4.50 5.50
'$ 0.19 0.19 0.19 0.21 0.27 0.24 0.25 0.24
7 0.10 0.15 0.06 0.11 0.11 0.20 0.02 0.20
6. 9.57 1052  12.01 1377 | 67.09 7233 7558  81.39

2 % (6(-= ? 17& (*C
K(0 $ 217 K(** &$
|

)8 5.69 5.77 5.79 5.82 5.91 6.10 5.98 6.05
9: 0.96 1.08 0.93 0.84 0.96 0.91 0.99 0.89
80 0.75 0.30 0.50 0.50 0.20 0.35 0.15 0.20
< 2.35 2.60 2.10 2.00 2.35 2.35 2.40 2.25
: 0.65 0.85 0.65 0.65 0.75 0.80 0.70 0.70
: 1.10 1.40 1.05 0.95 1.40 1.35 1.40 1.20
7 1.15 1.45 1.15 1.05 1.25 1.30 1.25 1.10

0.09 0.09 0.09 0.09 0.10 0.10 0.10 0.10
= 5.25 6.25 5.30 4.60 5.25 4.95 5.70 4.85
: 0.25 0.35 0.20 0.30 0.25 0.35 0.20 0.25
+0 1.00 1.05 1.10 0.95 1.15 1.10 1.25 1.05
8:+= 0.09 0.05 0.04 0.03 0.12 0.12 0.10 0.11

0.00 0.00 0.00 0.00 0.06 0.04 0.09 0.12
* 7.80 5.55 6.75 7.90 4.95 6.70 5.20 6.40
7 1.65 0.90 1.70 0.90 1.15 0.90 1.95 1.00

1.80 1.30 1.50 1.55 2.35 1.70 1.70 2.05

3.50 3.50 4.00 3.50 4.50 4.00 5.00 4.00
'$ 0.22 0.22 0.20 0.20 0.28 0.25 0.26 0.25
7 0.10 0.05 0.05 0.00 0.05 0.05 0.10 0.15
6. 1003 1243 2119 2105 | 2761 2975  33.74  49.00
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8? % (6(- ? 17& (, C
K(0 $ 217 K(* &$
| |

)8 5.98 5.96 6.07 6.04 6.53 6.36 6.54 6.44
9: 1.35 1.22 1.10 0.98 0.89 0.97 0.83 0.84
80 0.15 0.30 0.10 0.15 0.00 0.00 0.00 0.00
< 3.45 3.00 2.60 2.30 1.85 2.15 1.90 2.05
: 0.80 0.75 0.80 0.75 0.70 0.75 0.70 0.70
: 2.00 1.65 1.55 1.25 1.45 1.60 1.20 1.15
7 1.90 1.65 1.55 1.35 1.25 1.40 1.10 1.05
0.09 0.10 0.10 0.11 0.10 0.10 0.10 0.12

= 8.35 7.35 6.55 5.25 4.30 4.85 4.05 3.75
: 0.25 0.25 0.20 0.25 0.15 0.15 0.15 0.20
+0 1.45 1.30 1.20 1.20 1.50 1.60 1.25 1.35
8:+= 0.08 0.07 0.09 0.08 0.15 0.13 0.15 0.14
0.00 0.00 0.00 0.03 0.02 0.07 0.03 0.07

* 4.45 6.85 6.25 8.10 4.10 4.50 4.85 5.75
7 1.65 1.25 1.65 1.60 1.45 1.55 1.20 1.15
1.30 1.80 1.50 1.40 1.65 1.60 1.30 1.65

5.50 4.50 4.00 3.00 5.00 4.00 4.50 2.00

'$ 0.17 0.21 0.17 0.19 0.23 0.29 0.24 0.28
7 0.05 0.05 0.00 0.05 0.15 0.15 0.25 0.15
6. 1036 1755 1651  30.20 | 2397 3140 2673  28.72

2 % (6(-= ? 17& ( C
K(0 $ 217 K(™* &$
| |

)8 6.00 6.12 6.06 6.22 6.49 6.49 6.64 6.60
9: 1.53 1.45 1.12 0.62 0.90 0.87 0.69 0.78
:80 0.10 0.05 0.00 0.05 0.00 0.00 0.00 0.05
< 4.15 3.65 2.73 1.25 1.45 1.45 1.26 1.75
: 0.80 0.85 0.68 0.60 0.80 0.70 0.61 0.60
: 2.25 2.25 1.63 0.95 1.65 1.55 1.18 1.20
7 2.10 2.15 0.86 0.95 1.40 1.35 0.51 1.05
0.08 0.09 0.08 0.09 0.11 0.10 0.08 0.11

= 9.10 8.30 6.05 2.00 3.45 3.45 2.30 3.00
: 0.30 0.25 0.15 0.10 0.20 0.20 0.10 0.15
+0 1.90 2.15 1.80 1.75 2.20 2.10 1.75 1.65
8:+= 0.08 0.10 0.09 0.11 0.15 0.14 0.17 0.17
0.00 0.00 0.00 0.03 0.01 0.02 0.02 0.06

* 5.35 5.85 4.43 5.15 7.00 6.80 4.09 5.00
7 1.80 1.70 0.21 0.55 1.75 1.80 0.17 0.95
2.10 2.10 1.74 1.70 3.00 3.10 2.67 2.95

4.50 4.50 3.90 2.50 3.00 3.00 3.10 1.50

'$ 0.22 0.20 0.19 0.22 0.36 0.39 0.34 0.36
7 0.10 0.10 0.09 0.15 0.20 0.20 0.28 0.10
6. 1443 1563 2005  30.72 | 2290 2601 2955  33.80




% (6(-=9$% ? 17& (+C

K(0 $ K 217 K™ &$
| | | | |
5.84 6.15 6.07 6.13 6.42 6.56 6.58 6.70
1.99 1.50 1.19 0.70 1.14 0.89 0.82 0.80
0.00 0.00 0.10 0.00 0.00 0.05 0.00 0.00
5.15 3.80 2.55 1.25 1.60 1.05 0.90 1.15
0.80 0.70 0.65 0.60 0.65 0.60 0.55 0.60
2.80 2.10 1.75 1.10 2.20 1.80 1.60 1.55
2.85 2.20 1.85 1.15 1.95 1.65 1.50 1.35
0.08 0.08 0.09 0.09 0.09 0.09 0.10 0.11
11.85 7.85 5.60 2.20 4.75 2.45 2.20 2.00
0.30 0.25 0.20 0.20 0.20 0.15 0.20 0.20
2.20 2.35 2.20 1.80 2.75 2.85 2.50 2.45
0.07 0.11 0.10 0.11 0.15 0.17 0.17 0.21
0.00 0.00 0.00 0.03 0.00 0.00 0.01 0.06
3.75 3.70 4.50 6.55 4.00 6.10 6.40 8.35
1.20 1.05 1.35 0.90 1.45 1.20 1.30 1.10
0.70 0.50 0.55 1.20 1.30 2.80 3.05 4.50
1.50 1.50 0.50 1.00 -1.00 0.00 -1.00 0.50
0.16 0.15 0.15 0.25 0.22 0.39 0.38 0.65
0.05 0.00 0.00 0.00 0.00 0.05 0.05 0.00
7.96 12.79 16.19 31.09 15.61 19.36 20.02  38.55
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K(0 $ K 217 K &$
| |

)8 6.25 6.20 6.32 6.22 5.90 5.93 5.84 5.86
9: 1.07 1.03 1.02 1.04 0.97 0.93 0.92 0.98
80 1.55 1.45 1.40 1.35 1.45 1.35 1.25 1.25
< 2.65 2.60 2.65 2.65 2.35 2.25 2.30 2.50
: 0.60 0.60 0.65 0.60 0.60 0.60 0.65 0.70
: 0.95 0.95 0.90 0.95 0.90 0.85 0.85 0.90
7 1.05 1.00 1.00 1.00 0.90 0.90 0.90 0.95

0.09 0.09 0.09 0.09 0.09 0.09 0.09 0.10
y= 6.05 5.80 5.70 5.75 5.30 5.00 4.85 5.35
: 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30
+0 1.00 1.00 0.95 0.95 0.95 0.85 0.90 0.90
g:+= 0.16 0.13 0.14 0.13 0.12 0.11 0.11 0.10

0.01 0.01 0.01 0.01 0.19 0.20 0.19 0.24
* 3.20 3.25 3.40 2.95 6.30 6.05 6.30 5.90
7 2.15 2.00 1.15 1.95 1.85 1.75 0.95 1.80

3.35 3.15 3.40 2.75 2.10 2.15 1.95 2.40

3.50 3.50 4.50 4.00 5.00 3.00 5.50 4.50
'$ 0.22 0.22 0.22 0.20 0.22 0.21 0.21 0.23
7 0.20 0.15 0.15 0.15 0.10 0.15 0.10 0.20
6. 8.71 10.25 10.73 1819 | 5862 6849  66.94  71.27

2 "(6(-= $ 217& (* C
K(0 $ K 217 K™ &$
| |

)8 6.08 6.04 5.83 6.10 5.77 5.80 5.56 5.89
9: 1.34 1.33 1.39 1.31 1.15 1.35 1.28 1.19
80 0.60 0.60 0.50 0.80 0.60 0.45 0.25 0.45
< 3.25 3.30 3.45 3.35 2.70 3.30 3.05 3.00
: 0.75 0.80 0.80 0.80 0.70 0.85 0.80 0.75
: 1.85 1.85 1.90 1.65 1.50 1.95 1.75 1.60
7 1.70 1.75 1.75 1.55 1.35 1.70 1.60 1.45

0.07 0.08 0.08 0.08 0.07 0.07 0.07 0.08
= 8.15 8.25 8.95 8.20 6.65 8.20 8.05 7.35
: 0.35 0.40 0.35 0.40 0.35 0.40 0.35 0.35
+0 1.20 1.20 1.15 1.20 1.15 1.25 1.15 1.05
8:+= 0.11 0.07 0.05 0.05 0.06 0.00 0.00 0.00

0.00 0.00 0.00 0.07 0.12 0.14 0.14 0.23
* 2.80 3.90 3.00 3.55 5.70 4.75 4.70 6.30
7 1.85 1.20 1.75 2.20 2.00 1.60 1.80 2.40

1.35 2.15 1.60 1.60 1.80 1.60 1.30 1.75

4.50 4.00 4.50 5.00 5.00 3.50 5.00 5.00
'$ 0.19 0.21 0.20 0.21 0.24 0.22 0.21 0.24
7 0.10 0.15 0.00 0.10 0.15 0.05 0.00 0.10
6. 8.85 1155 1530 2595 | 4249 4530  47.86  60.45




8? 1L " (6(- = 217& (, C
K(0 $ K 217 K(* &$
| |

)8 6.02 6.11 6.10 6.06 5.94 5.87 6.06 5.88
9: 2.12 1.49 1.41 1.65 1.53 1.51 1.71 1.49
80 0.00 0.15 0.05 0.00 0.00 0.00 0.00 0.00
< 5.20 3.80 3.45 4.30 3.70 3.80 4.20 3.90
: 1.00 0.70 0.85 0.95 0.90 0.80 1.00 0.95
: 3.40 2.25 2.15 2.45 2.45 2.40 2.60 2.25
7 3.10 2.15 2.00 2.25 2.20 2.15 2.40 1.95

0.07 0.06 0.08 0.08 0.06 0.06 0.07 0.07
= 1435  10.00 8.95 11.15 9.95 9.90 1130  9.65
: 0.35 0.30 0.30 0.35 0.30 0.30 0.35 0.35
+0 1.70 1.30 1.35 1.30 1.40 1.40 1.50 1.30
8:+= 0.08 0.09 0.09 0.09 0.07 0.06 0.09 0.06

0.00 0.00 0.01 0.09 0.07 0.09 0.07 0.23
* 3.30 2.35 4.50 4.70 3.65 3.10 3.80 455
7 3.30 2.30 2.05 2.60 2.60 2.60 2.70 2.45

2.10 1.95 1.30 1.65 1.25 1.20 1.25 1.10

5.00 4.00 4.00 3.50 6.50 4.50 4.00 4.00
'$ 0.21 0.19 0.18 0.18 0.17 0.17 0.16 0.16
7 0.10 0.05 0.00 0.15 0.10 0.05 0.10 0.15
6. 1291  13.00 1860  56.97 | 3767 4881 3761  64.89

2 1L "(6(-=$ 217& ( C
K(0 $ K 217 K™ &$
| |

)8 6.24 6.04 6.07 6.13 6.04 6.11 6.02 6.00
9: 2.20 1.82 1.80 1.64 1.78 1.68 1.83 1.38
:80 0.00 0.15 0.00 0.00 0.00 0.00 0.00 0.00
< 5.65 4.80 473 4.60 4.40 4.35 3.95 3.85
: 0.95 0.95 0.88 0.88 0.95 1.05 0.90 0.90
: 3.60 2.85 2.74 2.33 2.85 2.75 2.32 2.05
7 3.23 2.65 1.22 1.02 2.56 2.35 0.98 1.80

0.05 0.06 0.05 0.04 0.04 0.04 0.04 0.04
= 1435 1170  11.85 1070 | 1130  10.35 8.95 8.70
: 0.40 0.35 0.20 0.30 0.35 0.35 0.20 0.25
+0 2.20 1.85 1.75 1.75 2.05 2.10 1.85 1.75
8:+= 0.11 0.09 0.09 0.09 0.08 0.10 0.08 0.07

0.00 0.01 0.02 0.11 0.01 0.05 0.09 0.17
* 2.30 3.60 2.84 2.50 3.35 3.85 3.82 3.00
7 2.50 1.70 1.16 1.02 0.55 1.40 1.27 1.25

2.00 2.45 2.35 1.98 1.80 2.00 1.91 1.40

3.00 3.00 4.35 3.40 1.50 3.50 4.45 3.00
'$ 0.22 0.23 0.22 0.21 0.19 0.20 0.20 0.16
7 0.05 0.15 0.21 0.16 0.15 0.05 0.17 0.05
6. 1446  18.08 4040 5292 | 3135 3836 4831  70.89

++




2 1L "(6(-=$ 217& (+ C
K(0 $ K 217 K(* &$
| | |

)8 6.19 6.20 6.23 6.34 6.14 6.23 6.21 6.15
9: 2.91 2.36 2.34 1.69 2.06 2.09 1.83 1.59
80 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
< 7.45 5.80 5.75 4.85 4.95 5.10 475 4.70
: 1.10 0.90 1.00 0.85 1.10 1.05 1.05 0.90
: 4.60 3.65 3.55 2.25 3.45 3.30 2.80 2.15
7 4.25 3.50 3.40 2.25 3.10 3.05 2.70 2.05

0.07 0.05 0.05 0.05 0.05 0.05 0.06 0.05
= 20.35 1430  14.25 9.75 1240  11.85 1060  8.95
: 0.50 0.45 0.40 0.35 0.35 0.30 0.30 0.30
+0 2.95 2.70 2.50 2.05 2.80 2.75 2.45 2.05
8:+= 0.12 0.12 0.13 0.14 0.11 0.12 0.13 0.12

0.00 0.00 0.01 0.09 0.01 0.02 0.06 0.16
* 2.85 2.55 2.65 3.20 3.60 3.45 3.45 3.10
7 2.55 2.60 2.55 1.65 2.30 2.05 1.90 1.45

1.50 0.70 0.70 0.75 1.25 0.80 0.75 0.65

2.50 2.00 1.00 0.50 5.00 2.00 5.50 0.00
'$ 0.22 0.19 0.21 0.21 0.24 0.19 0.22 0.19
7 0.10 0.00 0.00 0.00 0.10 0.00 0.00 0.00
6. 9.36 1476 2431 5743 | 2336 2258 3872  80.10

+? 1L "(6(-=$ 217& () C
K(0 $ K 217 K™ &$
| | |

)8 6.18 6.15 6.27 6.30 6.19 6.22 6.26 6.36
9: 3.00 2.40 1.99 1.59 1.85 2.18 1.50 1.23
:80 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
< 8.10 6.30 5.10 4.60 435 5.35 3.95 3.65
: 1.35 1.20 1.10 1.20 1.25 1.45 1.25 1.10
: 5.10 3.95 3.10 2.30 3.15 3.75 2.35 1.60
7 435 3.40 2.70 2.00 2.60 3.05 2.00 1.35

0.08 0.06 0.06 0.07 0.06 0.07 0.08 0.07
= 2080 1535  11.95 9.10 11.00  12.70 8.50 6.40
: 0.65 0.45 0.40 0.35 0.40 0.35 0.30 0.30
+0 2.60 2.45 2.00 1.90 2.20 3.10 2.00 1.60
8:+= 0.11 0.11 0.12 0.13 0.11 0.12 0.12 0.14

0.00 0.00 0.01 0.09 0.01 0.02 0.04 0.06
* 4.10 4.30 5.00 7.10 5.55 5.55 6.05 6.30
7 2.55 2.50 2.30 1.75 2.10 2.10 1.65 1.15

1.90 1.30 1.30 1.60 1.40 1.85 1.30 1.20

3.50 2.50 2.50 2.00 1.50 1.00 1.50 1.00
'$ 0.25 0.20 0.20 0.22 0.21 0.22 0.20 0.19
7 0.10 0.15 0.20 0.30 0.15 0.20 0.15 0.20
6. 8.88 1480 1832 4741 | 2181 2428 2983  47.92

+)




+3



? 1L I (6(-= $ 217& (, C
K(0 $ K 2?17 K(* &$
| |

)8 6.31 6.34 6.43 6.33 6.24 6.40 6.44 6.36
9: 1.05 1.03 1.09 0.99 0.86 0.82 0.85 0.90
80 1.30 1.15 1.15 1.15 1.00 0.95 1.00 0.95
< 2.65 2.70 2.80 2.55 2.05 2.05 2.15 2.20
: 0.75 0.75 0.80 0.70 0.70 0.65 0.70 0.70
: 0.90 0.90 1.00 0.85 0.80 0.75 0.75 0.85
7 1.10 1.10 1.15 1.00 0.90 0.85 0.85 1.00

0.13 0.12 0.11 0.12 0.15 0.13 0.13 0.14
y= 5.95 5.75 6.20 5.60 4.70 4.35 4.50 4.80
: 0.30 0.30 0.35 0.30 0.30 0.30 0.30 0.30
+0 1.00 0.95 1.05 0.95 0.80 0.70 0.85 0.85
g:+= 0.12 0.13 0.13 0.13 0.11 0.13 0.14 0.14

0.00 0.00 0.00 0.02 0.17 0.17 0.20 0.24
* 7.00 6.75 5.35 6.55 8.75 7.95 8.35 7.85
7 1.80 1.75 1.50 1.65 1.50 1.35 1.20 1.55

2.70 2.15 2.20 1.95 1.85 1.80 2.45 2.10

4.00 4.50 5.50 4.50 4.50 4.00 5.00 4.50
'$ 0.21 0.18 0.22 0.21 0.17 0.15 0.20 0.22
7 0.20 0.15 0.20 0.20 0.15 0.15 0.15 0.10
6. 13.44  18.95 16.48 23.02 69.22  66.32 68.53  81.03

2 1L I (6(-=$ 217& (' C
K(0 $ K 217 K &$
| |

)8 6.20 6.22 6.14 6.33 6.34 6.24 6.19 6.36
9: 1.28 1.20 1.19 1.13 0.96 0.86 0.95 0.94
80 0.50 0.45 0.40 0.20 0.25 0.20 0.25 0.20
< 3.46 3.15 3.20 3.15 2.57 2.25 2.55 2.60
: 0.71 0.70 0.75 0.75 0.62 0.65 0.65 0.70
: 1.57 1.40 1.40 1.30 1.13 1.00 1.10 1.10
7 1.76 1.60 1.60 1.50 1.25 1.10 1.25 1.20

0.09 0.10 0.11 0.11 0.10 0.11 0.12 0.13
4= 7.80 7.35 7.10 6.55 5.25 4.80 5.35 5.10
: 0.30 0.25 0.20 0.20 0.20 0.15 0.20 0.15
+0 1.20 1.20 1.20 1.05 1.00 1.05 1.00 1.05
g:+= 0.11 0.10 0.09 0.12 0.13 0.11 0.10 0.13

0.01 0.00 0.01 0.04 0.09 0.07 0.13 0.18
* 2.46 2.20 2.00 2.95 3.30 4.85 3.35 3.85
7 1.17 1.20 1.65 1.35 0.14 0.90 0.75 0.10

1.40 0.80 0.65 1.10 1.27 1.20 1.10 1.35

6.00 4.00 4.50 5.00 4.50 3.50 4.00 4.50
'$ 0.19 0.16 0.14 0.23 0.16 0.16 0.15 0.20
7 0.15 0.10 0.20 0.10 0.15 0.15 0.15 0.10
6. 15.57 16.41 1735 2543 | 4319 4372  47.88  63.22




8? 1L I (6(-=$ 217& (+ C
K(0 $ K 217 K(* &$
| |

)8 6.02 6.07 6.16 6.24 6.52 6.36 6.44 6.44
9: 1.54 1.45 1.44 1.00 0.90 0.84 0.83 0.69
80 0.00 0.00 0.05 0.00 0.00 0.00 0.00 0.00
< 4.00 3.70 4.00 3.05 2.40 2.20 2.45 2.25
: 0.75 0.70 0.75 0.65 0.60 0.60 0.60 0.55
: 2.15 1.80 1.90 1.10 1.00 0.90 0.95 0.75
7 2.50 2.25 2.20 1.35 1.25 1.15 1.15 0.85

0.11 0.10 0.12 0.12 0.12 0.12 0.13 0.13
= 10.00 9.00 8.55 5.70 4.50 4.35 3.95 3.20
: 0.30 0.25 0.20 0.20 0.20 0.15 0.15 0.15
+0 1.30 1.35 1.55 1.05 1.15 1.15 1.15 1.00
g:+= 0.09 0.10 0.11 0.11 0.16 0.14 0.15 0.13

0.00 0.00 0.00 0.01 0.01 0.01 0.04 0.08
* 1.65 1.75 2.05 2.55 3.85 3.55 4.00 4.30
7 2.15 1.80 1.85 1.10 1.05 1.00 1.00 0.65

0.50 0.55 0.60 0.40 0.45 0.40 0.45 0.35

5.00 3.00 4.00 3.50 3.50 1.50 3.00 2.50
'$ 0.14 0.14 0.16 0.14 0.16 0.14 0.15 0.14
7 0.05 0.05 0.15 0.20 0.05 0.05 0.15 0.15
6. 8.95 13.04 1551 15.65 2610 2449 3049  38.85

)*




? 1L A (6(-=$ 217& (, C
K(0 $ K 217 K(* &$
| |

)8 6.21 6.30 6.13 6.28 6.33 6.20 6.19 6.18
9: 1.06 1.10 1.08 1.00 0.87 0.86 0.90 0.88
80 1.05 0.95 0.70 0.70 0.70 0.65 0.75 0.50
< 2.70 2.90 2.65 2.60 2.15 2.15 2.20 2.25
: 0.70 0.75 0.75 0.70 0.75 0.70 0.70 0.75
: 1.00 1.05 1.10 0.95 0.85 0.85 0.85 0.90
7 1.20 1.30 1.30 1.15 1.00 1.00 1.00 1.10

0.12 0.13 0.13 0.13 0.14 0.14 0.13 0.14
y= 5.90 6.15 6.35 5.75 4.55 4.50 4.85 4.85
: 0.35 0.35 0.40 0.35 0.35 0.30 0.35 0.35
+0 1.05 1.05 1.00 0.85 0.90 0.85 0.80 0.80
g:+= 0.11 0.12 0.09 0.12 0.13 0.11 0.10 0.10

0.00 0.00 0.09 0.01 0.14 0.13 0.17 0.18
* 18.00 5.75 6.00 5.80 7.90 8.80 6.15 7.90
7 2.45 1.75 2.45 1.75 1.50 1.50 1.20 1.70

1.60 0.75 1.55 0.80 1.05 1.20 1.15 1.45

4.50 5.00 4.50 5.00 4.50 5.00 4.50 4.00
'$ 0.24 0.14 0.18 0.17 0.17 0.14 0.15 0.19
7 0.15 0.15 0.15 0.10 0.10 0.05 0.10 0.05
6. 19.03 16.95  21.65 17.97 7507  56.82 67.11  69.56

2 1L A (6(-=$ 217& (' C
K(0 $ K 217 K &$
| |

)8 6.19 6.07 5.99 6.23 6.43 6.33 6.30 6.45
9: 1.32 1.32 0.76 1.04 0.74 0.68 0.76 0.67
80 0.15 0.20 0.10 0.00 0.00 0.00 0.00 0.00
< 3.51 3.50 3.60 3.10 2.22 2.05 2.35 2.15
: 0.76 0.80 0.70 0.70 0.59 0.65 0.60 0.55
: 1.68 1.60 1.75 1.15 0.81 0.70 0.80 0.65
7 1.90 1.90 2.00 1.35 0.90 0.80 0.95 0.80

0.09 0.11 0.11 0.11 0.10 0.11 0.11 0.11
4= 8.10 7.95 8.25 5.80 3.45 3.15 3.65 3.05
: 0.35 0.35 0.30 0.20 0.20 0.25 0.20 0.15
+0 1.15 1.35 1.30 1.00 1.05 1.10 0.95 0.90
g:+= 0.11 0.08 0.08 0.10 0.14 0.11 0.12 0.14

0.00 0.00 0.01 0.02 0.01 0.02 0.04 0.07
* 2.02 2.50 1.75 2.50 3.45 5.35 3.55 4.80
7 0.17 1.90 2.25 0.50 0.10 0.60 0.45 0.20

0.83 0.65 0.65 0.65 0.63 0.75 0.60 0.80

6.50 5.00 5.00 5.00 5.00 3.50 3.00 4.50
'$ 0.16 0.16 0.17 0.18 0.15 0.14 0.13 0.17
7 0.10 0.20 0.20 0.10 0.20 0.20 0.15 0.20
6. 14.51 15.22 19.53 2165 | 2818  20.89  30.13  38.83

X




8? A (6(-=$ 217& (+ C
K(0 $ K 217 K(* &$
| |

)8 6.05 6.09 6.10 6.31 6.56 6.45 6.62 6.65
9: 1.57 1.55 1.35 0.91 0.61 0.39 0.47 0.34
80 0.00 0.00 0.00 0.00 0.00 0.00 0.05 0.05
< 3.95 3.95 3.75 2.75 1.80 1.20 1.65 1.30
: 0.80 0.75 0.75 0.65 0.55 0.40 0.50 0.50
: 2.10 2.00 1.70 1.00 0.55 0.30 0.35 0.25
7 2.75 2.60 2.15 1.30 0.75 0.40 0.50 0.30

0.12 0.11 0.12 0.13 0.12 0.11 0.12 0.13
= 10.05 9.45 8.00 4.60 2.25 0.65 1.15 0.30
: 0.35 0.35 0.30 0.20 0.20 0.15 0.15 0.20
+0 1.50 1.45 1.40 1.20 1.10 0.90 1.00 0.85
g:+= 0.10 0.10 0.10 0.13 0.17 0.17 0.19 0.19

0.00 0.00 0.00 0.00 0.00 0.00 0.02 0.02
* 1.70 1.90 1.80 2.50 5.45 7.20 5.80 8.75
7 2.15 1.65 1.35 0.95 0.55 0.40 0.35 0.25

0.55 0.55 0.45 0.35 0.30 0.20 0.30 0.30

6.00 5.50 3.50 4.00 4.50 3.00 2.00 3.00
'$ 0.14 0.15 0.14 0.13 0.17 0.18 0.17 0.20
7 -0.05 0.05 0.10 0.10 0.05 0.05 0.10 0.30
6. 11.42 11.88 15.20 12.80 | 20.88 19.12 2355  24.01




? 1L 7 (6(-=$ 217& (, C
K(0 $ K 2?17 K(* &$
| |

)8 6.28 6.39 6.46 6.34 6.13 6.21 6.44 6.36
9: 0.99 0.99 0.98 0.98 0.76 0.76 0.67 0.81
80 1.20 1.20 1.05 1.10 0.75 0.75 0.70 0.90
< 2.45 2.50 2.55 2.55 1.80 1.75 1.60 1.90
: 0.75 0.70 0.70 0.70 0.70 0.70 0.55 0.65
: 0.85 0.85 0.85 0.85 0.75 0.75 0.60 0.75
7 1.05 1.05 1.10 1.05 0.85 0.90 0.75 0.90

0.13 0.13 0.12 0.12 0.17 0.13 0.11 0.13
y= 5.40 5.50 5.45 5.35 3.80 4.05 3.45 4.15
: 0.30 0.30 0.35 0.35 0.30 0.30 0.30 0.35
+0 0.95 0.90 0.95 0.95 0.80 0.75 0.65 0.80
g:+= 0.12 0.13 0.15 0.13 0.10 0.11 0.14 0.14

0.00 0.00 0.00 0.01 0.15 0.15 0.15 0.22
* 6.70 6.65 5.15 5.10 13.45 8.80 6.85 7.55
7 1.70 1.45 1.20 1.05 1.50 1.25 0.70 1.00

1.85 1.50 1.20 1.10 1.90 1.35 1.45 1.75

5.50 5.00 5.00 5.00 4.50 4.50 3.50 6.00
'$ 0.17 0.16 0.15 0.15 0.20 0.14 0.16 0.15
7 0.10 0.25 0.15 0.15 0.05 0.10 0.20 0.20
6. 13.39 16.41 18.15 2253 | 5572  59.07 68.33  72.84

2 1L 7 (6(-=$ 217& ( C
K(0 $ K 217 K &$
| |

)8 6.39 6.51 6.33 6.23 6.30 6.41 6.18 6.30
9: 1.06 1.12 1.03 0.94 0.76 0.73 0.81 0.64
80 0.75 0.60 0.55 0.25 0.15 0.15 0.05 0.05
< 2.75 2.80 2.60 2.35 1.55 1.50 1.75 1.35
: 0.60 0.85 0.60 0.70 0.55 0.65 0.60 0.65
: 1.10 1.25 1.15 1.05 1.00 1.00 1.10 0.80
7 1.40 1.55 1.35 1.35 1.15 1.15 1.25 1.00

0.11 0.12 0.11 0.12 0.12 0.12 0.13 0.13
= 6.05 6.35 5.65 5.20 3.95 3.80 4.15 3.00
: 0.20 0.30 0.20 0.15 0.15 0.20 0.20 0.15
+0 1.25 1.35 1.10 1.05 1.10 1.10 1.05 0.95
g:+= 0.12 0.15 0.13 0.11 0.11 0.14 0.10 0.12

0.00 0.00 0.00 0.01 0.06 0.07 0.06 0.09
* 3.75 4.05 2.55 2.85 5.20 4.35 3.50 5.30
7 1.60 1.30 0.80 0.85 0.85 0.65 0.80 0.65

2.15 0.75 0.85 0.70 1.75 0.95 0.90 1.15

4.50 3.50 4.50 5.00 3.00 3.00 3.50 4.00
'$ 0.19 0.16 0.16 0.19 0.17 0.15 0.15 0.16
7 0.20 0.20 0.25 0.20 0.20 0.10 0.15 0.10
6. 15.67 14.67 16.17 1727 | 3360  34.86 3217  41.22

)8




8? 1L A (6(-=$ ?17& (+C
K(0 $ K 2?17 K™ &$
| |

)8 6.24 6.34 6.37 6.44 3.31 6.68 6.59  6.62
9: 1.44 1.27 1.05 0.65 0.58 0.63 047 041
80 0.10 0.10 0.15 0.05 0.00 0.00 000  0.00
< 3.65 3.25 2.75 1.60 1.10 1.25 095  0.90
: 0.75 0.65 0.65 0.60 0.55 0.55 055  0.50
: 1.90 1.55 1.30 0.75 0.80 0.80 065  0.50
7 2.35 2.00 1.65 1.00 1.00 1.00 075  0.65
0.11 0.10 0.10 0.11 0.12 0.12 013  0.14

= 8.70 7.45 6.00 2.95 2.45 2.55 145  1.00
: 0.30 0.20 0.20 0.15 0.20 0.15 020  0.20
+0 1.50 1.35 1.25 0.95 1.05 1.05 1.00  0.90
8:+= 0.12 0.14 0.14 0.15 0.18 0.19 0.18  0.20
0.00 0.00 0.00 0.00 0.00 0.00 000  0.01

* 2.05 2.10 2.20 3.95 4.00 4.55 575  6.75
7 2.25 1.35 1.40 0.60 0.40 0.60 045  0.40
0.55 0.45 0.45 0.30 0.45 0.40 050  0.45

4.50 5.00 4.00 3.00 2.50 3.00 250  2.00

'$ 0.16 0.18 0.16 0.17 0.15 0.17 017  0.19
7 0.10 0.05 0.15 0.15 0.10 0.00 020  0.25
6. 10.99 12.48 13.10 14.01 15.56 16.42 18.18  19.93

2 1L ( (6(-=$ ?217& (C
K(0 $ K 2?17 K(* &$
| |

)8 6.46 6.50 6.56 6.51 6.52 6.55 6.61 6.55
9: 1.44 1.34 1.05 0.56 0.58 0.53 0.42 0.33
80 0.40 0.15 0.20 0.00 0.00 0.00 0.00 0.00
< 4.00 3.50 2.50 0.95 0.85 0.75 0.55 0.45
: 0.85 0.85 0.80 0.45 0.40 0.50 0.45 0.30
: 2.00 1.90 1.45 0.85 1.00 0.90 0.70 0.55
7 2.25 2.10 1.65 1.05 1.15 1.05 0.80 0.65
0.11 0.10 0.11 0.11 0.11 0.13 0.13 0.12

y= 8.65 7.70 5.55 1.95 2.05 1.45 0.90 0.50
: 0.25 0.30 0.20 0.10 0.15 0.20 0.20 0.10
+0 1.85 1.90 1.65 1.45 1.45 1.45 1.10 1.00
8:+= 0.15 0.15 0.18 0.16 0.16 0.18 0.18 0.17
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.01

* 4.30 4.50 6.65 7.25 6.90 10.15 1295  11.20
7 2.40 2.00 1.85 0.90 0.40 0.90 0.70 0.60
2.00 1.75 2.15 2.35 2.30 2.25 2.35 2.25

3.50 3.00 2.50 2.00 2.50 1.00 1.50 1.00

'$ 0.26 0.26 0.29 0.39 0.25 0.32 0.32 0.31
7 0.15 0.20 0.15 0.20 0.15 0.15 0.25 0.20
6. 11.26 10.27 11.17 13.11 13.09  20.60 17.01 2556




? 1L % (6(-=$ 2 17& (, C
K(0 $ 217 K(* &$
| | |

)8 6.26 6.35 6.36 6.15 6.18 6.27 6.31 6.23
9: 1.00 0.98 0.97 0.84 0.70 0.75 0.74 0.71
80 1.05 1.05 0.85 0.65 0.55 0.65 0.55 0.45
< 2.50 2.45 2.55 2.05 1.60 1.70 1.75 1.65
: 0.80 0.75 0.85 0.70 0.70 0.70 0.75 0.65
: 0.95 0.85 0.95 0.80 0.75 0.75 0.80 0.70
7 1.15 1.05 1.10 1.00 0.85 0.85 0.95 0.80

0.12 0.12 0.12 0.13 0.14 0.13 0.13 0.14
4= 5.45 5.20 5.45 4.55 3.45 3.70 3.75 3.50
: 0.35 0.30 0.35 0.30 0.35 0.30 0.35 0.30
+0 1.05 0.95 0.95 0.95 0.90 0.85 0.85 0.80
8:+= 0.12 0.13 0.13 0.10 0.11 0.12 0.13 0.11

0.00 0.00 0.00 0.00 0.10 0.13 0.12 0.15
* 5.65 5.25 4.85 7.70 8.65 7.55 7.10 8.65
7 1.55 1.45 1.10 1.50 1.25 1.35 0.90 1.30

0.75 0.55 0.80 1.00 0.95 0.70 1.05 0.80

4.50 4.00 6.50 4.50 4.50 4.00 5.00 4.00
'$ 0.14 0.14 0.19 0.23 0.17 0.15 0.17 0.16
7 0.10 0.15 0.15 0.15 0.10 0.10 0.00 0.10
6. 1723 1589 1338 1849 | 5106 5169 7187  60.77

2 1L % (6(-=$ 217& ( C
K(0 $ K 717 K™ &$
| | |

)8 6.27 6.24 6.16 6.24 6.42 6.47 6.33 6.44
9: 1.19 1.14 1.04 0.69 0.55 0.55 0.56 0.46
80 0.40 0.20 0.10 0.00 0.00 0.00 0.00 0.00
< 3.06 2.85 2.60 1.55 1.00 1.10 1.10 1.05
: 0.77 0.82 0.75 0.65 0.63 0.70 0.65 0.65
: 1.39 1.38 1.35 0.85 0.74 0.80 0.75 0.60
7 1.63 1.66 1.60 1.05 0.83 0.90 0.85 0.70

0.10 0.10 0.11 0.10 0.11 0.11 0.12 0.12
= 6.80 6.65 6.00 3.25 2.25 2.40 2.25 1.95
: 0.35 0.25 0.20 0.15 0.20 0.15 0.15 0.15
+0 1.20 1.30 1.20 1.05 1.00 1.15 1.05 0.90
8:+= 0.11 0.12 0.09 0.11 0.13 0.15 0.12 0.14

0.00 0.00 0.00 0.00 0.00 0.02 0.04 0.06
* 2.86 3.26 2.70 3.40 5.19 5.45 5.25 3.85
7 1.23 1.31 1.25 0.60 0.41 0.75 0.45 0.40

0.89 0.77 0.70 0.75 0.99 0.80 0.80 0.70

6.50 6.00 4.00 5.00 5.00 4.50 3.00 4.00
'$ 0.18 0.17 0.18 0.20 0.20 0.19 0.17 0.18
7 0.15 0.20 0.20 0.20 0.15 0.20 0.25 0.15
6. 1483 1396 1511 1948 | 2265 2536 2573  36.48




8? % (6(- ? 17& (+C
K(0 $ 217 K(* &$
| |

)8 6.19 6.20 6.29 6.47 6.55 6.68 6.55 6.63
9: 1.38 1.22 1.03 0.51 0.38 0.42 0.32 0.30
80 0.20 0.00 0.00 0.00 0.00 0.00 0.00 0.00
< 3.50 2.95 2.50 0.95 0.40 0.50 0.40 0.40
: 0.75 0.70 0.70 0.65 0.50 0.50 0.50 0.55
: 1.75 1.45 1.35 0.65 0.55 0.60 0.40 0.40
7 2.25 1.95 1.70 0.85 0.70 0.75 0.55 0.50

0.10 0.09 0.11 0.12 0.11 0.12 0.12 0.13
= 8.35 7.05 5.80 1.40 0.50 0.65 0.15 0.05
: 0.30 0.20 0.20 0.15 0.15 0.10 0.10 0.15
+0 1.35 1.30 1.35 1.30 1.10 1.20 1.00 0.95
g:+= 0.11 0.12 0.13 0.14 0.17 0.19 0.18 0.16

0.00 0.00 0.00 0.01 0.00 0.00 0.00 0.01
* 1.90 2.15 2.55 6.55 5.65 7.00 6.70 8.80
7 2.00 1.55 1.15 0.60 0.45 0.75 0.50 0.45

0.50 0.45 0.45 0.70 0.30 0.45 0.60 0.85

5.50 3.00 3.50 3.50 3.00 2.00 2.00 3.00
'$ 0.18 0.16 0.17 0.28 0.25 0.27 0.25 0.27
7 -0.05 0.00 0.10 0.20 0.05 0.05 0.20 0.20
6. 10.64  11.96 12.86 13.43 16.01 17.98 18.08  20.24

)+




((

? 1L (6(-= $ 217& (, C
K(0 $ K 717 K(* &$
| |

)8 6.23 6.29 6.20 6.09 6.13 6.28 6.19 6.15
9: 1.08 1.08 1.10 1.09 0.83 0.88 0.92 0.84
80 0.90 0.80 0.80 0.85 0.60 0.60 0.55 0.50
< 2.70 2.75 2.80 2.90 1.95 2.10 2.20 2.05
: 0.80 0.80 0.90 0.80 0.75 0.85 0.85 0.75
: 1.05 1.10 1.15 1.10 0.85 0.95 1.00 0.85
7 1.30 1.30 1.30 1.30 0.95 1.05 1.15 1.00

0.13 0.13 0.12 0.13 0.14 0.14 0.14 0.14
y= 6.35 6.10 6.30 6.30 4.55 4.65 4.80 4.15
: 0.35 0.35 0.30 0.40 0.35 0.30 0.40 0.40
+0 1.05 1.05 1.10 1.05 0.85 0.90 1.00 0.85
g:+= 0.11 0.12 0.10 0.09 0.10 0.12 0.10 0.10

0.00 0.00 0.00 0.01 0.12 0.13 0.15 0.17
* 5.50 5.80 4.75 5.70 8.25 8.20 7.65 9.75
7 1.80 1.80 1.55 1.95 1.50 1.55 1.40 0.95

0.55 0.80 0.90 0.90 1.10 1.10 1.25 1.15

6.50 4.50 6.00 5.50 4.50 5.00 5.50 4.00
'$ 0.14 0.13 0.16 0.17 0.17 0.15 0.18 0.17
7 0.15 0.15 0.20 0.15 0.05 0.10 0.10 0.05
6. 1385  20.64  15.77 19.06 63.41  59.37 62.19  59.34

2 1L (6(-= $ 217& (' C
K(0 $ K 217 K &$
| |

)8 6.12 6.14 6.05 6.07 6.34 6.21 6.25 6.19
9: 1.40 1.30 1.26 1.05 0.88 0.90 0.90 0.77
80 0.30 0.35 0.15 0.15 0.05 0.10 0.30 0.00
< 3.48 3.30 3.10 2.95 2.05 2.10 2.25 2.00
: 0.87 0.90 0.85 0.70 0.72 0.85 0.85 0.70
: 1.81 1.55 1.55 1.25 1.10 1.10 1.10 0.90
7 2.02 1.85 1.85 1.45 1.21 1.25 1.25 1.05

0.10 0.11 0.11 0.11 0.10 0.12 0.12 0.12
= 8.35 7.90 7.55 6.10 4.60 4.90 4.85 3.95
: 0.30 0.30 0.30 0.25 0.25 0.30 0.25 0.25
+0 1.40 1.35 1.25 1.05 1.00 1.05 1.10 0.90
g:+= 0.09 0.09 0.08 0.08 0.13 0.10 0.11 0.10

0.00 0.00 0.00 0.03 0.07 0.05 0.11 0.10
* 2.70 3.15 2.10 3.05 4.10 4.85 4.00 3.60
7 0.45 2.05 1.70 0.95 0.09 0.95 0.80 0.60

1.23 0.90 0.60 0.75 1.12 0.70 0.75 0.65

5.50 4.00 5.00 5.00 5.00 3.00 4.00 3.50
'$ 0.20 0.16 0.15 0.19 0.17 0.13 0.16 0.16
7 0.10 0.20 0.15 0.10 0.20 0.15 0.20 0.15
6. 16.46 14.75 16.18 2534 | 3729 3754 4515  44.04

)




8? 1L (6(-= $ 217& (+ C
K(0 $ K 217 K(* &$
| |

)8 6.07 5.94 5.98 6.07 6.19 6.26 6.24 6.42
9: 1.49 1.47 1.59 1.21 1.20 1.07 1.00 0.84
80 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
< 3.65 3.50 3.95 3.15 2.70 2.35 2.45 2.20
: 0.80 0.80 0.90 0.85 0.90 0.80 0.85 0.85
: 2.05 2.00 2.20 1.50 1.65 1.40 1.35 0.95
7 2.45 2.45 2.65 1.90 2.00 1.75 1.55 1.15

0.11 0.11 0.12 0.11 0.14 0.12 0.13 0.13
= 9.50 9.10 9.75 7.10 7.15 5.80 5.70 3.90
: 0.30 0.25 0.30 0.30 0.30 0.25 0.30 0.30
+0 1.35 1.40 1.65 1.20 1.30 1.25 1.20 1.05
g:+= 0.10 0.08 0.08 0.10 0.12 0.13 0.12 0.16

0.00 0.00 0.01 0.02 0.05 0.02 0.05 0.03
* 1.65 1.70 2.00 2.30 2.65 2.85 3.00 3.75
7 2.45 2.45 2.35 1.60 1.30 1.35 1.10 0.60

0.60 0.55 0.55 0.40 0.65 0.45 0.55 0.55

5.00 5.00 4.00 3.00 4.00 3.50 3.00 3.00
'$ 0.13 0.13 0.13 0.13 0.14 0.13 0.14 0.15
7 0.05 0.00 0.10 0.05 0.15 0.05 0.10 0.10
6. 8.59 1328  21.05 2334 | 2808 2950  31.98  23.99

)3




? 1L "(6(-=$ ?217& (, C
K(0 $ K 217 K(* &$
| |

)8 6.26 6.13 6.13 6.10 6.08 6.13 6.09 6.22
9: 1.05 1.11 1.13 1.11 0.97 0.90 0.98 0.94
80 1.05 0.90 0.55 0.60 0.65 0.70 0.65 0.70
< 2.60 2.85 2.85 2.85 2.30 2.15 2.30 2.30
: 0.75 0.80 0.80 0.75 0.85 0.80 0.75 0.75
: 0.95 1.15 1.25 1.15 1.00 0.90 1.05 1.00
7 1.15 1.35 1.40 1.35 1.15 1.05 1.20 1.15

0.12 0.12 0.12 0.12 0.14 0.12 0.11 0.12
y= 5.95 6.45 6.80 6.50 5.40 5.10 5.55 5.35
: 0.35 0.40 0.35 0.45 0.45 0.40 0.35 0.40
+0 1.00 1.00 1.00 0.90 0.90 0.80 0.85 0.80
g:+= 0.11 0.10 0.09 0.09 0.09 0.10 0.09 0.11

0.00 0.00 0.00 0.02 0.16 0.15 0.19 0.19
* 5.95 5.55 4.25 4.90 6.90 7.55 5.00 6.40
7 1.65 1.90 2.50 2.10 1.80 1.60 1.75 1.65

0.35 0.50 0.50 0.40 0.85 0.80 0.85 0.75

6.00 5.00 6.00 4.50 4.50 4.50 4.50 5.00
'$ 0.14 0.17 0.23 0.17 0.15 0.14 0.15 0.19
7 0.10 0.05 0.20 0.05 0.00 0.05 0.10 0.10
6. 17.85 1510 2175  26.56 6347 6030 67.65  72.05

2 1L "(6(-= $ 217& ( C
K(0 $ K 217 K™ &$
| |

)8 6.09 6.08 6.16 6.02 6.21 6.11 6.14 6.15
9: 1.39 1.32 1.29 1.22 0.94 0.89 0.98 0.92
80 0.20 0.10 0.00 0.00 0.00 0.10 0.05 0.00
< 3.54 3.30 3.20 3.10 2.25 2.30 2.40 2.35
: 0.84 0.85 0.90 0.85 0.75 0.85 0.80 0.80
: 1.78 1.70 1.70 1.55 1.20 1.15 1.25 1.15
7 2.00 1.95 2.00 1.80 1.35 1.30 1.45 1.30

0.07 0.07 0.07 0.07 0.06 0.06 0.06 0.06
= 8.50 8.15 7.85 7.45 5.10 5.00 5.45 5.15
: 0.35 0.40 0.35 0.25 0.30 0.35 0.35 0.30
+0 1.25 1.35 1.30 1.05 1.05 1.15 1.05 0.95
g:+= 0.08 0.09 0.10 0.08 0.10 0.09 0.10 0.09

0.00 0.00 0.00 0.04 0.04 0.05 0.08 0.13
* 2.14 2.40 2.75 2.35 3.35 4.50 3.40 2.80
7 2.07 1.40 1.25 1.30 0.20 0.90 0.75 0.85

0.78 0.60 1.10 0.70 0.80 1.25 0.95 0.65

6.00 6.50 5.00 5.50 4.00 4.00 4.00 4.00
'$ 0.18 0.16 0.20 0.16 0.17 0.18 0.18 0.14
7 0.10 0.10 0.15 0.10 0.10 0.15 0.05 0.10
6. 12.63 16.05 17.37 2681 | 3174 2430  39.75  50.93




8? 1L "(6(-=$ 217& (+ C
K(0 $ K 217 K(* &$
| |

)8 6.13 6.18 6.17 6.18 6.44 6.41 6.51 6.54
9: 1.58 1.51 1.25 1.00 0.84 0.85 0.71 0.64
80 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
< 4.15 3.80 3.35 2.75 1.90 1.90 1.85 1.80
: 0.90 0.85 0.85 0.85 0.80 0.75 0.80 0.80
: 2.15 1.85 1.60 1.15 1.05 0.95 0.80 0.65
7 2.65 2.35 1.95 1.45 1.30 1.25 1.00 0.75

0.08 0.06 0.06 0.06 0.06 0.06 0.07 0.07
= 10.15 9.35 7.85 5.60 4.20 4.15 3.20 2.60
: 0.40 0.35 0.30 0.30 0.25 0.25 0.30 0.30
+0 1.55 1.35 1.20 1.05 1.20 1.10 1.00 0.95
8:+= 0.11 0.12 0.11 0.11 0.15 0.15 0.16 0.17

0.00 0.00 0.00 0.01 0.01 0.00 0.00 0.03
* 2.25 2.40 2.70 3.55 3.85 3.80 5.15 5.95
7 2.65 2.10 1.55 1.10 0.95 0.75 0.70 0.55

0.65 0.55 0.50 0.40 0.50 0.35 0.45 0.45

6.00 3.00 4.00 3.50 2.50 1.00 2.50 2.50
'$ 0.17 0.18 0.16 0.17 0.16 0.15 0.16 0.19
7 0.05 0.00 0.05 0.15 0.10 0.10 0.15 0.20
6. 11.06 1319  18.32  23.28 19.20 2353 2594  32.87

2 1L "(6(-=$ 217& () C
K(0 $ K 217 K™ &$
| |

)8 6.18 6.15 6.27 6.30 6.19 6.22 6.26 6.36
9: 3.00 2.40 1.99 1.59 1.85 2.18 1.50 1.23
:80 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
< 8.10 6.30 5.10 4.60 435 5.35 3.95 3.65
: 1.35 1.20 1.10 1.20 1.25 1.45 1.25 1.10
: 5.10 3.95 3.10 2.30 3.15 3.75 2.35 1.60
7 435 3.40 2.70 2.00 2.60 3.05 2.00 1.35

0.08 0.06 0.06 0.07 0.06 0.07 0.08 0.07
= 2080 1535  11.95 9.10 11.00  12.70 8.50 6.40
: 0.65 0.45 0.40 0.35 0.40 0.35 0.30 0.30
+0 2.60 2.45 2.00 1.90 2.20 3.10 2.00 1.60
8:+= 0.11 0.11 0.12 0.13 0.11 0.12 0.12 0.14

0.00 0.00 0.01 0.09 0.01 0.02 0.04 0.06
* 4.10 4.30 5.00 7.10 5.55 5.55 6.05 6.30
7 2.55 2.50 2.30 1.75 2.10 2.10 1.65 1.15

1.90 1.30 1.30 1.60 1.40 1.85 1.30 1.20

3.50 2.50 2.50 2.00 1.50 1.00 1.50 1.00
'$ 0.25 0.20 0.20 0.22 0.21 0.22 0.20 0.19
7 0.10 0.15 0.20 0.30 0.15 0.20 0.15 0.20
6. 8.88 1480 1832  50.82 | 2181 2428  29.83  47.73

3*




